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Synthetic Division is the most efficient way to evaluate this polynomial by hand, by the Remainder 
Theorem.  I flubbed this, live, but I knew I had the mavg right on the Maple.

Week 8 PRACTICE Solutions
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Desmos will get you a digital solution and it will confirm an exact solution, but the free 
graphing calculator won't give you an exact answer.  That takes a CAS.  I think 
wolframalpha.com's free version is pretty powerful, if you leanr how to talk to it.
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Check the endpoints:

5565.922560
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This graph demonstrates
the fact that the tangent 
line crosses the graph
at the inflection point.
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2998.37848895­1.09443871706

5565.92256

4.29443871706 2335.63063105
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­1.094438717 2998.378489
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Desmos Work
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­4.1576092031
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­((x + 2) (x (3 x + 2) ­ 32))/sqrt(16 ­ x^2)

You can do some things with Wolframalpha.com, as well.

https://www.wolframalpha.com/

Differentiate (x+2)^2*sqrt(16­x^2)

Enter either of the following commands:

diff((x+2)^2*sqrt(16­x^2),x)

Wolfram Alpha will spit out the derivative:

Scroll down the page and see an Alternate Form that you can copy and paste back into the 
input window:

What you paste will look like this in the input window:

This is an expression you can solve for zero or differentiate it yet again.

Differentiate  ­((x + 2) (x (3 x + 2) ­ 32))/sqrt(16 ­ x^2)

returns the following:

You can paste THIS into the input window, Put a solve in front of it and an =0 after it!

solve (2 (x (3 x + 4) (x^2 ­ 24) + 224))/(16 ­ x^2)^(3/2) =0

https://www.wolframalpha.com/
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It's really hard to pick up on the 2nd inflection point, visually.  We exaggerate it in our graph.
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I put "IP" in parentheses at x = 0 and x = 2pi, because they're endpoints of the interval ovr 
which we're graphing.  Yes, they're inflection points of sin(x), but they're also boundary points 
of consideration, and it's hard to see that the tangent line is crossing the graph without more 
graph to look at!
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